string

{
(n—-—>0)
result += a;

}



( , * 1)

* - 0,
¥ = &cin;
(argc == 2)
{
infile = (argv[1]);
( ! *infile)
{
cerr << << argv[l]
<<
<< endl;
}
in = infile;
}
}
(*in >> latin_number)
{

cout << latin_number <<
<< latin_to_roman(latin_number)
<< endl;

infile;

O;



}

}

{1,
{5,
{9,
{10,
{50,
{90,
1100,
{500,
{900,

{1000,

{

I=A

o
et N e )

et Nt N
et

=( (translation) /

(
= SIZE - 1;i>=0; —i)

= translation[i].second;
= translation([i].first;

(lat_num >= value)

append_n_times(rom_str, glyph,

(lat_num / value));

lat_num %= value;

}

rom_str;



